DP=#E FERMERRIRE

o= 2 194 R E

EESER

7 30cm x & 47cm (TR A3) P= 1 BEA
X SBLURTE B SRS (T 1) Al

& 43cmx & 65cm ( OJR5 A2) e
S SBLR B R (L) PEREEE

& 803px x = 1417px
X SRS T B JPEG
BER USB BES RS A
E=AEE - BERAR IM
X B
T ELE o BRHEE
1 B - E TUSB 252, BIKBE h—fE 2 &
SKIZER TERE TR - BERRE
R IR RS -
7T @ L ETEE R -
X MEBEGBERE  BEBHEREMEE
— BB -
X HEEH LB HE windows 24




D=HE FERMENRIRB(FBHEERANSA)

HE B 1818 BB B

=
55|13 h8

& 60cmx 5 133cm (B

X RERUE KM EL IR i;?;i%g:?
1 | X BURBRBRE  D2ESEMS %amjv@)
BR1%
35 A TEBEITE bt Ll cs
BRI T IR R IE Y 100/

X MBHBK - By EERECIEM
6cm - WEEEIME E&

BE60cmx 541.7cm x B 0.7cm | = gE(itEE)—1E8F 0

1 (=) (EBBIEEMNS -
X EEEERKMEL B Ao EERBE )

X ENBERE R Z1%$40/H




